with(plots) :
cosineplot := plot(cos(x),x=0.. Pi, y=—1..1, color = blue, thickness =3, scaling = constrained)

arccosineplot := plot(arccos(x),x=—1.. 1, y=—Pi..Pi, color =red, thickness =3, scaling
= constrained)
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tanplot = plot(tan(x), x=— DR y=—10..10, color = blue, thickness =3, scaling = constrained
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arctanplot := plot| arctan(x), x=—10..10, y =— PIREE color =red, thickness =3, scaling

= constrained )
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sineplot := plot(sin(x), x=— 71 . 71, y=—1..1, color = blue, thickness =3, scaling = constrained)



) Pi Pi
arcsineplot == plot(arcsm(x), x=—1.1,y=— 71 ..71, color =red, thickness =3, scaling

= constrained )



display ([ cosineplot, arccosineplot|)



display ([ sineplot, arcsineplot])




display ([ tanplot, arctanplot])
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